Proof:
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Why this  
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, why  the term a has to begin with 1 and the term b begin with n-1, for example if the poly has degree 4 then a start with a1 and b start with b4, really I do not understand this, Please explain it with more details and give a example.
We know, in 
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This is because 
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From the condition, we know that
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Thus 
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This implies that
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 I am little confuse in this notation too,  
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, this means for example the polynomial of degree 4 we have 
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 but this is no poly of degree 4.

Please can you explain me this with more details.
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